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X|3= Matrix A8
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(1) &+AX|$= (Total Return Index)
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(2) ME7IHX|$ (Gross Price Index)

o X290 Mol Buto[xtE ZEEet O|XHF 7+ (Di
OfXt==oiif Znto|Rtof olet dutE Zetdt= X[+

R P =Py
it
Pi—q
Ry, 3= i2tAd BF =45
P 3% i 9 t AE dirty price T+18 Y tt7

-

(Lh Xl =& AN

Ry 3= i 2 t A




(Eh Xl== A4t

IDX, = IDX,_, x (1 + TR,)

IDX,: t A|” K==

TR t AE X =E

(3) =7t4X|$ (Clean Price Index)

< MOl FWMOIXE MAHT A2E<
Price) 22 X5 LHE3H7| WZ0| O X E X419

—

_ (Pi,t - A[i,t) - (Pi,t—l - Ali,t—l)
it —
Piq

i ot Al BF =YE
o t Al dirty Price (T+1E Y T ALE)

Al T= i 2 t AKX ZDHOo|At

Akt

(1]

(Lh X% 49

TRt Al X A&

Ry BT 12t AH 5 =&

wi: B35 i o HIE (AI7HEYHIT)
(Ch R|a= A&

IDX, = IDX,_, x (1 +TR,)

IDX,: t A& K|

TR:t AE X Y&




(4) EXX|E

“h Bz=wefold

(Ch W& YTM

(Avg. Duration), = Z w; X (Dutation);;
i

(Avg.Convexity), = Z w; X (Convexity);,
i

(Avg.YTM), = Z wi X (YTM);,
i
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(1) iNAV (Indicative Net Asset Value)
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7t A= Process
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